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(a) if CMRR = 10° and differential gain A =105

Determine the common mode gain A (2)

(b) If PSRR = 70db. What is the numerical value of
PSRR. Explain impact of low PSRR on circuit

performance. (2)
{¢) Why is constant current bias circuit desired 7 (2)
(d) Define the following terms :—
(1) input offset voltage

(i) wnity gain bandwidth (2)
P.T.O.
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2.

L

{e) What are notch filters? (2)

(a) Give the AC analysis of Dual input balanced Output
Differential Amplifier. (4)

{b) For given specifications evaluate the (i) operating
point (it) voltage gain and (iii) maximum peak-to-
peak outpui voltage swing without clipping. (3)

Specifications :

R. =~ 2.2KQ R, = 4.7KQ. Ry, = 500,

R,.. = 30 Q.
Ve = T1IV. Vg = 12V B, =B, = 150,
Yo = 0.7V

For an operational Amplifier in voltage follower

configuration following data is given ;-

A = 500.000. R, = 420Q. R = 45 MQ (45x10%(2)
Rp = 4.7KQ R, = 500, V.. = +15V, V_ =~15V
Maximum output voltage swing = 12V,

Unity gain bandwidth (UGB) = 0.8 MHz

(a) Draw the circuit diagram for the circuit ? (2)

(b) Evaluate the following for above mentioned circuit.

(1) Voltage gain with feedback (Ap)
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(1) Input resistance with feedback (R,)
(i) O/P resistance (R} 3)

{c) Discuss the impact of circuit on total output offset
voltage. (2)

4.  (a) Design a triangular wave generator for 6 KHz
signal with peak to peak voltage of 8V; Supply
voltage = =13V and saturation voltage = £11V.

(3)

{by Design a second order band pass filter for
frequency range 1 KHz 1o 8 KHz. (3)
{c) What is the use of all-pass filter ? (1)

5. (a) For a practical integrator with input signai as
a sine-wave with peak-to-peak amplitude of GV
at | KHz. draw the output voltage waveform
if R.C, = 0.2mS and R, = 10R,. Assume that
\'CF(O) =0V. [Voltage across C, is initially zero).

4)

(b} Explain. with help of necessary circuit diagram

and waveforms. the working of schmitt trigger.

(3)
6. (a) For a non-inverting amplifier with R, = 2KQ and
R, =8 KQ and input offset voltage = 15 mV input

P.T.O.



1009

(b

{a

th)

4

offset current = 40 nA and input bias current =
200 nA, cvaluate total error vaoltage at the output
for compensated and uncompensated circuit
operation, (3)

Explain the working of 1C 335 with the help of
circutt diagram and necessary waveforms for a

stable mode of operation. (4}

Why are differentiation circuit not used in design
of analog computers for solving differential

equations ? (2)
Desian a circuit to generate the following
integral -

xr

glo) = j sin{wt) e 1t dy (5)

{300)



